MATH180C: Introduction to
Stochastic Processes Il

Today: Asymptotic behavior of
renewal processes
Next: PK 7.5, Durrett 3.1, 3.3

Week 7:

* HW6 due Monday, May 22 on Gradescope
» Midderm 2



Example : Age replacement policies (PK, p.363)
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Exomple : Age mplacement policies (PK, p.363)
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Exomple : Aae replacement policies (PK | p.363)
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Exomple : Age replacement policies (PK | p.363)
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Two comPovxen'l’ renewals
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Jwo component renewals
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Two component renewals
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EXQ_MP\Q_: the Petec Pr(nc(P\a
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Exa,mP\Q_: the Petec Pr{v\c(P\a
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EX(LMP\Q_: the Petec Pr(v\c(P\z
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